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Cost Accounting


Time : 2 Hours        [Maximum Marks : 70

Note :This paper is of Seventy (70) marks divided into two

(02) Sections A and B. Attempt the questions con-

tained in these sections according to the detailed in-

structions given therein. Candidates should limit their

answers to the questions on the given answer sheet.

No additional (B) answer sheet will be issued.

            

         





       
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Section–A / 

(Long Answer Type Questions) /    

Note :Section ‘A’ contains Five (05) long-answer-type ques-

tions of Nineteen (19) marks each. Learners are re-

quired to answer any two (02) questions only.

(2×19=38)

     (05)    

     (19)   

(02) 



1. Explain different methods of cost classification

and their importance in business decision-making

with examples.

       

        

 

2. Describe the steps to implement Activity-Based

Costing (ABC) in a company and the challenges

faced during this process.
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     (ABC) 

 

      

3. Discuss strategies for cost control and reduction.

How do these strategies improve a company's prof-

itability ?

        

       

 

4. Mukul Limited is running four buses between Delhi

and Alwar, covering a distance of 100 KMs. The

seating capacity of each bus is 40 passengers. The

following particulars are obtained from its books for

the month of March 2023 :

Wages of drivers and conductors       Rs. 9,600

Salaries of office staff       Rs. 3,000

Honorarium of accountant       Rs. 1,000

Diesel, oil etc.              Rs. 16,000
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Repair and maintenance       Rs. 3,200

Raod tax and insurance       Rs. 6,400

Depreciation      Rs. 10,400

Interest and other charges       Rs. 8,000

Actual passengers carried were 75% of the seating

capacity. All the buses ran for 30 days. Each bus

made one round trip per day. Find out the fare the

company should charge per passenger KM of it wants

a profit of 20% on the taking.





     

         

      

     

    

        

    
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(5)A-0500

     

      

     

        %

         

    % 



   

. From the following data provided to you, find out

the Labour Turnover Rate by applying :

(a) Flux Method

(b) Replacement Method

(c) Separation Method

Number of workers on the payroll : At the beginning

of the month 500. At the end of the month 600,

During the month, 5 workers left 20 persons were

discharged and 75 workers were recruited. Of these,

10 workers were recruited in the vacancies of those

P.T.O.



leaving, while the rest were engaged for an expan-

sion scheme.

   

       

  

  

  

   

    

          

    

         

      

Section–B / 

(Short-Answer-Type Questions) /    

Note : Section ‘B’ contains Eight (08) short-answer-type

questions of Eight (08) marks each. Learners are

required to answer any Four (04) questions only.

        (4×8=32)
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    (08)      

      (08)   

  (04)  

 

1. How are costs classified based on behavior in cost

accounting ?

         

   

2. Explain the difference between fixed and variable

costs with a relevant example for each.

        

     

3. Why is material costing critical in the manufactur-

ing process ?

       

4. Differentiate between direct and indirect labor costs

with examples.

         

 
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5. Which industries are best suited for process costing

and why ?



6. What makes Activity-Based Costing (ABC) more

accurate than traditional costing methods ?

 (ABC)  

     

7. Identify and explain one effective technique for con-

trolling costs in an organization.

  

     

8. What is the significance of conducting a cost audit

in a company ?

         
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